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Question Number : 1 Question Id : 86435126605 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Select the correct word that can best complete the given sentence :

Marriages between members of extended family were to strengthen the
ties of relationship.

1. mentioned

2. promoted

3. indulged
4. performed
Options :

86435190871. 1
86435190872. 2
86435190873. 3

86435190874. 4

Question Number : 2 Question Id : 86435126606 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



From the choices given below, select the pair which exhibits the same
relationship as the one in capitalized pair of words :

SOLDIER : REGIMENT
1. clown : circus
2. actor : troupe
3. dancer : ballet
4. instrument : musician

Options :

86435190875. 1
86435190876. 2
86435190877. 3

86435190878. 4

Question Number : 3 Question Id : 86435126607 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is correctly spelt?
1. Surruptitious [
2.  Surepptitious
3. Surrepcitious

4. Surreptitious
Options :
86435190879. 1
86435190880. 2
86435190881. 3

86435190882. 4

Question Number : 4 Question Id : 86435126608 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is nearest in meaning to the word ‘EDIFY"?

1. Instruct
2. Satisfy
3. Amuse

4. Consume

Options :

86435190883. 1
86435190884. 2
86435190885. 3
86435190886. 4

Question Number : 5 Question Id : 86435126609 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There was nobody to attend _ the complaints of the passengers.
1. on
2. in
3. to
4. for
Options :

86435190887. 1
86435190888. 2
86435190889. 3
86435190890. 4

Question Number : 6 Question Id : 86435126610 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A post without remuneration is known as
1.  voluntary

2. sinecure

3. sincere
4. honorary
Options :

86435190891. 1
86435190892. 2
86435190893. 3

8643519089%4. 4

Question Number : 7 Question Id : 86435126611 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable antonym :
EXPEDITION
1. Silence
2. Explanation
3. Undertaking
4. Delay
Options:
86435190895. 1
86435190896. 2

86435190897. 3

86435190898. 4



Question Number : 8 Question Id : 86435126612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with right words :

Lakshman was initially at the suggestion but later started
it himself.

1. thrilled, negating
2. frowning, rejecting
3. impressed, negating

4. shocked, advocating
Options :
86435190899. 1
86435190900. 2
86435190901. 3

86435190902. 4

Question Number : 9 Question Id : 86435126613 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the idiom from the options given :

Miss the boat
1. let too much time go by to complete a task
2. long for something that you don't have
3. miss out on an opportunity

4. not know the difference between right and wrong
Options:
86435190903. 1
86435190904. 2

86435190905. 3



86435190906. 4

Question Number : 10 Question Id : 86435126614 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

These grapes ___ sour.
1. aretesting
2. tasted
3. taste

4. have tested
Options :
86435190907. 1
86435190908. 2
864351909009. 3

86435190910. 4

Question Number : 11 Question Id : 86435126615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a certain code THRIVES is written as SIUHRDU. How is SOULFUL written in
that code?

1.  VPTKKTE

2. VPTKETK

3. TPVKKTE

4. TNRKMVG
Options:

86435190911. 1
86435190912. 2

86435190913. 3



86435190914. 4

Question Number : 12 Question Id : 86435126616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will come in place of the question mark (?) in the expression?

1050+ 25 % 51 — 1942 =7

1. 1562
2. 200 N
3. 252
4. 300
Options :

86435190915. 1
86435190916. 2
86435190917. 3

86435190918. 4

Question Number : 13 Question Id : 86435126617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are five statues L, M, N, O and P each of them having different height.
Statue L is smaller than only statue M. Statue O is smaller than statue N. Statue
O is longer than statue P. The height of the tallest statue is 20 feet. The height
of the second smallest statue is 11 feet. What will be the height of statue P?

1. 9feet
2. 12feet
3. 13feet [
4. 15feet
Options :

86435190919. 1



86435190920. 2
86435190921. 3

86435190922. 4

Question Number : 14 Question Id : 86435126618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ashok started walking towards South. After walking 50 meters he took a right
turn and walked 30 meters. He then took a right turn and walked 100 meters. He
again took a right turn and walked 30 meters and stopped. How far he from the
starting point?

1. 180 meters
2. 150 meters
3. 50 meters

4. None of these
Options :
86435190923. 1
86435190924. 2
86435190925. 3

86435190926. 4

Question Number : 15 Question Id : 86435126619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number, whose square is equal to the difference of the squares of the
numbers 68 and 32, is

1. 36
2. 48
3. 60
4. 64

Options :



86435190927. 1
86435190928. 2
86435190929. 3

86435190930. 4

Question Number : 16 Question Id : 86435126620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a prime number?

1. 3

2. o

3 T

4. 91
Options :

86435190931. 1
86435190932. 2
86435190933. 3
86435190934. 4

Question Number : 17 Question Id : 86435126621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1397 x 1397 =72

1. 1981709
2. 1951609
3. 1836219
4. 1902179
Options :

86435190935. 1



86435190936. 2
86435190937. 3

86435190938. 4

Question Number : 18 Question Id : 86435126622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What least number must be added to 1056, so that the sum is completely divisible
by 237

1. 2

2. 18

3. 3

4. 2
Options:

86435190939. 1
86435190940. 2
86435190941. 3

86435190942. 4

Question Number : 19 Question Id : 86435126623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct answer :

7845 - 7 = 8461 - 3569

1. 2953
2 XT3
3. 3569
4. 2352

Options:



86435190943. 1
86435190944. 2
86435190945. 3

86435190946. 4

Question Number : 20 Question Id : 86435126624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which country is called the ‘Land of Fiords' ?

1. Sweden

2. ltaly

3. Norway

4. Singapore
Options:

86435190947. 1
86435190948. 2
86435190949. 3

86435190950. 4

Question Number : 21 Question Id : 86435126625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The biggest part of the brain is

1. cerebrum
2. spinal cord
3. cerebellum

4.  brain stem
Options :

86435190951. 1



86435190952. 2
86435190953. 3

86435190954. 4

Question Number : 22 Question Id : 86435126626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Name the person who was also known as ‘Deshbandhu’.
1.  S. Radhakrishnan
2. G. K. Gokhale
3. Chittaranjan Das
4. A P.J. Abdul Kalam
Options:
86435190955. 1
86435190956. 2

86435190957. 3

86435190958. 4

Question Number : 23 Question Id : 86435126627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who is known as ‘The Saint of Gutters'?
1. Baba Amte
2. Anna Hazare
3. Mother Teresa

4.  None of these
Options:
86435190959. 1

86435190960. 2



86435190961. 3
86435190962. 4

Question Number : 24 Question Id : 86435126628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Garampani Sanctuary is located at

1. Junagarh, Gujarat

2. Diphu, Assam

3. Kohima, Nagaland

4.  Gangtok, Sikkim
Options :
86435190963. 1
86435190964. 2
86435190965. 3

86435190966. 4

Question Number : 25 Question Id : 86435126629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The National Rural Health Mission has been launched in the country in

1. 2003
2. 2005
3. 2007
4. 2009
Options:

86435190967. 1
86435190968. 2
86435190969. 3



86435190970. 4

Part B-Sociology

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

8643511161
2

Online
Mandatory
75

75

300

Yes

1
8643511394

Yes

Question Number : 26 Question Id : 86435126630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The term ‘sociology’ comprises of two words ‘'socius’ and ‘logos’. These two

words are from which language group?
1. German and French
2.  French and ltalian
3. Latin and Greek

4.  French and English
Options :
86435190971. 1
86435190972. 2



86435190973. 3

86435190974. 4

Question Number : 27 Question Id : 86435126631 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who argued that society has progressed through three stages namely
theological, metaphysical and positive?

1. Emile Durkheim
2. Max Weber
3. Karl Marx

4. Auguste Comte
Options:
86435190975. 1
86435190976. 2
86435190977. 3

86435190978. 4

Question Number : 28 Question Id : 86435126632 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A complex web of social relationships formed as a system of usages and
procedures, of authority and mutual aid, of many groupings and divisions, of
controls of human behaviour and of liberties, which is always changing — may be
best termed as

1. society
2. family
3. neighborhood

4.  Utopian society



Options :

86435190979. 1
86435190980. 2
86435190981. 3

86435190982. 4

Question Number : 29 Question Id : 86435126633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wherever the members of any group, small or large, live together in such a way
that they share, not this or that particular interest, but the basic conditions of a
common life, we call that group as a/an

1. society

2. community

3. organisation

4. association
Options :
86435190983. 1
86435190984. 2

86435190985. 3

86435190986. 4

Question Number : 30 Question Id : 86435126634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The status positions to which individuals are more or less automatically assigned
on the basis of accidents of birth, is called as

1. ascribed status
2. achieved status
3. real status

4. false status



Options :

86435190987. 1
86435190988. 2
86435190989. 3
86435190990. 4

Question Number : 31 Question Id : 86435126635 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Those positions in which a person is placed because of some action or
attainment on his/her part, is termed as

1. ascribed status
2. achieved status
3. real status
4. false status
Options:
86435190991. 1
86435190992. 2

86435190993. 3
86435190994. 4

Question Number : 32 Question Id : 86435126636 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When there is a gap between keeping the same pace between the technical
development of a society and its moral and legal institutions, it is called as

1. cultural lacuna
2.  cultural imbalance
3. cultural lag

4. cultural disturbance



Options :

86435190995. 1
86435190996. 2
86435190997. 3
86435190998. 4

Question Number : 33 Question Id : 86435126637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A laptop and a mobile are the examples of
1.  non-material culture

2. material culture

3.  values
4. norms
Options :

86435190999. 1
86435191000. 2
86435191001. 3

86435191002. 4

Question Number : 34 Question Id : 86435126638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If you are a citizen of India, then the other citizens of India willbe ____ for you.
1. in group members
2. out group members
3. known members

4. family members



Options :

86435191003. 1
86435191004. 2
86435191005. 3
86435191006. 4

Question Number : 35 Question Id : 86435126639 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The conflict analysis in sociology discipline begins with the usage of
1.  Auguste Comte’s theoretical analysis
2. Emile Durkheim's theoretical analysis
3. Karl Marx's theoretical analysis

4. Max Weber's theoretical analysis
Options :
86435191007. 1
86435191008. 2
864351910009. 3

86435191010. 4

Question Number : 36 Question Id : 86435126640 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the smallest family unit?
1. Extended family
2. Joint family
3. Neighborhood

4. Nuclear family



Options :

86435191011. 1
86435191012. 2
86435191013.3

86435191014. 4

Question Number : 37 Question Id : 86435126641 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A process by which an outsider, immigrant, or subordinate group becomes
indistinguishably integrated into the dominant host society is called as

1.  cultural diffusion
2. cultural assimilation
3. cultural contribution

4. cultural dissemination
Options :
86435191015. 1
86435191016. 2
86435191017. 3

86435191018. 4

Question Number : 38 Question Id : 86435126642 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A group of friends is an example of
1. primary group
2. secondary group
3. tertiary group

4. essential group



Options :

86435191019. 1
86435191020. 2
86435191021. 3
86435191022. 4

Question Number : 39 Question Id : 86435126643 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who is the author of the book, The Elementary Forms of Religious Life?
1. Auguste Comte
2.  Max Weber

3. Karl Marx

4.  Emile Durkheim
Options :
86435191023. 1
86435191024. 2
86435191025. 3
86435191026. 4

Question Number : 40 Question Id : 86435126644 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Those acts which do not follow the norms and expectations of a particular social
group, are termed as

1. laws
2. conformity
3. deviance

4.  authority



Options :

86435191027. 1
86435191028. 2
86435191029. 3

86435191030. 4

Question Number : 41 Question Id : 86435126645 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A group which covers a wide area that no two of its members need live in close
proximity, and it is so large that all of its members could not possibly know one
another personally, is called as

1.  primary group

2. secondary group

3. essential group

4. non-essential group
Options :
86435191031. 1
86435191032. 2

86435191033. 3
86435191034. 4

Question Number : 42 Question Id : 86435126646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which type of social group, we will find relatively simple forms of cultural
expressions like folklore, folk legends, and folk songs?

1.  Rural
2.  Urban
3. Industrial

4. Post-industrial



Options :

86435191035. 1
86435191036. 2
86435191037. 3

86435191038. 4

Question Number : 43 Question Id : 86435126647 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What do you understand by ‘anti-urban bias'?
1.  Assumption that urban life is superior to rural life
2. Assumption that rural life is not fruitful
3. Assumption that urban life is inferior to rural life

4.  Assumption that both urban and rural life are equal
Options :
86435191039. 1
86435191040. 2
86435191041. 3

86435191042. 4

Question Number : 44 Question Id : 86435126648 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If any person performs his or her roles according to the role obligations, it is
termed as

1. deviance
2. suppression
3.  violation

4. conformity

Options:



86435191043. 1
86435191044. 2
86435191045. 3

86435191046. 4

Question Number : 45 Question Id : 86435126649 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If you are learning the customs, culture or behavior of a social group which you
wish to join, the process will be called as

1. anti-socialization
2. anticipatory socialization
3. revolutionary socialization

4. fake socialization
Options :
86435191047. 1
86435191048. 2
86435191049. 3

86435191050. 4

Question Number : 46 Question Id : 86435126650 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The initial efforts of modernity during the Renaissance period were to set out a
broadly conception of rationality.

1. humanist
2.  bureaucratic
3.  consumerist

4. evolutionary

Options :



86435191051. 1
86435191052. 2
86435191053. 3

86435191054. 4

Question Number : 47 Question Id : 86435126651 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An institution which is based upon technology, differentiated division of labour
and use of inanimate sources of energy, may appropriately be called as

1. agrarian

2. feudal

3. barbaric

4.  industrial
Options :
86435191055. 1
86435191056. 2

86435191057. 3

86435191058. 4

Question Number : 48 Question Id : 86435126652 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which system can we find manorial lords, clergy, and serfs?
1. Industrial system
2. Estate system
3. Caste system

4. Democratic system
Options :

86435191059. 1



86435191060. 2
86435191061. 3

86435191062. 4

Question Number : 49 Question Id : 86435126653 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If we study an individual's occupational changes in the course of his or her
lifetime, it will be termed as mobility.

1. intra-generational
2.  inter-generational
3. semi-generational

4.  multi-generational
Options :
86435191063. 1
86435191064. 2
86435191065. 3

86435191066. 4

Question Number : 50 Question Id : 86435126654 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process by which the transfer of power was made from the church to the

state and it also signifies the decline of the religion in the society, is termed
as

1. globalization
2. regularization
3.  urbanization

4. secularization
Options :

86435191067. 1



86435191068. 2
86435191069. 3

86435191070. 4

Question Number : 51 Question Id : 86435126655 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The numerically significant racial group in Indian society is
1. Negrito
2. Proto-Australoid

3. Mongoloid

4. Mediterranean
Options :
86435191071. 1
86435191072. 2
86435191073. 3

86435191074. 4

Question Number : 52 Question Id : 86435126656 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Indus Valley Civilization, which place was a port town?

1. Kalibangan

2. Ropar

3. Kot Diji

4. Lothal
Options:

86435191075. 1

86435191076. 2



86435191077. 3
86435191078. 4

Question Number : 53 Question Id : 86435126657 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among the Hindus, the 'Shakta’ are the worshippers of
1. Shiva
2. Vishnu
3. Mother Goddess

4.  All of the above
Options :
86435191079. 1
86435191080. 2
86435191081. 3

86435191082. 4

Question Number : 54 Question Id : 86435126658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An out-marrying social group, which traces descent from a common ancestor in
the distant past, is termed as

1. Varna
2. Jati
3. Class
4. Goftra
Options :

86435191083. 1
86435191084. 2

86435191085. 3



86435191086. 4

Question Number : 55 Question Id : 86435126659 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The theory of Varna system, which explains the origin of Varnas on the basis of
Sattva, Rajas and Tamas is termed as

1. Theory of divine origin
2. Guild theory
3. Racial theory

4.  Triguna theory
Options :
86435191087. 1
86435191088. 2
86435191089. 3
86435191090. 4

Question Number : 56 Question Id : 86435126660 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The process by which a low Hindu caste or tribal or other group, changes its

customs, ritual, ideology and way of life in the direction of a high and frequently
twice-born caste is termed as

1. westernization
2. sanskritization
3.  urbanization
4. adaptation
Options :
86435191091. 1

86435191092. 2



86435191093. 3

86435191094. 4

Question Number : 57 Question Id : 86435126661 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The modernization process involves
1. dramatization of ends
2. reduction of ends
3. globalization of ends

4. rationalization of ends
Options :
86435191095. 1
86435191096. 2
86435191097. 3

86435191098. 4

Question Number : 58 Question Id : 86435126662 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The Balika Samridhi Yojana was initiated in the year

1. 1987
2. 1997
3. 2007
4. 2017
Options:

86435191099. 1
86435191100. 2
86435191101. 3



86435191102. 4

Question Number : 59 Question Id : 86435126663 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Under which Article of the Constitution of India, has the practice of untouchability
been made a punishable offence?

1. Article 14

2. Article 15

3. Article 16

4. Article 17
Options :

86435191103. 1
86435191104. 2
86435191105. 3

86435191106. 4

Question Number : 60 Question Id : 86435126664 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which religious minority in India is regarded as ‘culturally insulated minority'?

1.  Christian

2. ' Sk

3. Bahai

4. Parsi
Options :

86435191107. 1
86435191108. 2

86435191109. 3



86435191110. 4

Question Number : 61 Question Id : 86435126665 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scientific assertion must have
1. logical support
2. empirical support
3. both logical and empirical support
4. absolute support
Options:
86435191111.1
86435191112. 2

86435191113. 3

86435191114. 4

Question Number : 62 Question Id : 86435126666 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

are definite, certain, without questions, and their meaning is self-
evident.

1.  Hypotheses
2. Perspectives
3. Paradigms
4. Facts
Options:
86435191115. 1
86435191116. 2

86435191117. 3

86435191118. 4



Question Number : 63 Question Id : 86435126667 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proposition based upon deduction, which is put forward to a test to determine
its validity, is called as

1. fact
2.  inquiry
3. hypothesis

4.  abstraction
Options :
86435191119. 1
86435191120. 2
86435191121.3
86435191122. 4

Question Number : 64 Question Id : 86435126668 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Decisions regarding what, where, when, how much, by what means concerning
an inquiry or a research study constitute a

1.  hypothesis
2.  paradigm shift
3. research design
4. reflection
Options :
86435191123. 1
86435191124. 2

86435191125. 3
86435191126. 4



Question Number : 65 Question Id : 86435126669 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Find the incorrect statement from the following :

1. Sample design must result in truly representative sample.
2. Sample design must be such which results in small sampling error.
3. Sample design must be viable in the context of funds available.

4. Sample design must be such so that systematic bias can be
uncontrolled.

Options :

86435191127. 1
86435191128. 2
86435191129. 3

86435191130. 4

Question Number : 66 Question Id : 86435126670 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If we select every nth item on a list, it will be called as sampling method.
1.  random

2. systematic

3. stratified
4. snowball
Options :

86435191131.1
86435191132. 2
86435191133. 3

86435191134. 4



Question Number : 67 Question Id : 86435126671 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When the guestions are typed or printed in a definite order on a form or set of
forms, and the respondents are provided with these forms to answer on their
own, the methods is termed as

1.  interview
2. questionnaire
3. observation

4. focused group discussion
Options :
86435191135. 1
86435191136. 2
86435191137.3

86435191138. 4

Question Number : 68 Question Id : 86435126672 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The factor of age illustrates
1. discrete variable
2.  binary variable
3. continuous variable
4. ordinal
Options:
86435191139. 1
86435191140. 2

86435191141. 3

86435191142. 4



Question Number : 69 Question Id : 86435126673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If in a table with distribution of data, we are taking a value - so that half the entries
in the frequency table fall below and half above it, it will be called as

1. mean
2.  median
3. mode

4. centre point
Options :
86435191143. 1
86435191144. 2
86435191145. 3

86435191146. 4

Question Number : 70 Question Id : 86435126674 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a table with distribution of data, the value represented by the greatest
frequency, is called as

1.  mean
2.  median
3. mode

4.  centre point
Options :
86435191147. 1
86435191148. 2
86435191149. 3

86435191150. 4



Question Number : 71 Question Id : 86435126675 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The full form of CPU is

1.  Central Performing Unit

2.  Central Progressing Unit

3. Central Processing Unit

4.  Central Playing Unit
Options :
86435191151. 1
86435191152. 2
86435191153. 3

86435191154. 4

Question Number : 72 Question Id : 86435126676 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A social science researcher interested in developing skills in computer data
analysis, must be aware of—Choose the odd one out.

1. Data organization and coding
2.  Storing the data in the computer
3. Selection of appropriate software package
4. Hardware repairing
Options :
86435191155. 1
86435191156. 2

86435191157. 3

86435191158. 4



Question Number : 73 Question Id : 86435126677 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following is incorrect regarding social problems?

1.  Itis deviation from the social ideal
2. ltis undesirable and abnormal situation
3. ltis for common good and welfare
4. ltis remediable by collective efforts

Options:

86435191159. 1

86435191160. 2

86435191161. 3

86435191162. 4

Question Number : 74 Question Id : 86435126678 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A situation characterized by the relative absence or weakening or confusion of
norms and values in a society or a group is termed as

1.  social cohesion
2. social integration
3. social assimilation
4. anomie
Options:
86435191163. 1
86435191164. 2
86435191165. 3

86435191166. 4

Question Number : 75 Question Id : 86435126679 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

When a person commits suicide because he/she thinks primarily of his/her
own self, when is not integrated into a social group, when the desire that
motivate is not limited to the measure compatible with human destiny by the
social authority of the group, by the authority of obligations imposed by a
narrow and powerful milieu — it is called

1. altruistic suicide
2. egoistic suicide
3. anomic suicide
4. normal suicide
Options :
86435191167. 1
86435191168. 2
86435191169. 3

86435191170. 4

Question Number : 76 Question Id : 86435126680 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The perspective which looks into the scriptures about the origin, purpose and
future of the caste system is termed as

1. indological

2. colonial construct

3. guild theory

4. scientific theory
Options :
86435191171. 1
86435191172. 2
86435191173.3

86435191174. 4



Question Number : 77 Question Id : 86435126681 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The prejudicial attitudes between in-groups and out-groups by which in-group
members ftreat their attitudes, customs and behavior unquestionably and

uncritically as superior to out-group social arrangements, the phenomenon is
sociologically known as

1. jealousy
2. motivation
3. ethnocentrism

4. xenophobia
Options :
86435191175. 1
86435191176. 2
86435191177.3

86435191178. 4

Question Number : 78 Question Id : 86435126682 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Dowry Prohibition Act was enacted in the year

1. 1947
2. 1950
3. 1961
4. 1971
Options:

86435191179. 1
86435191180. 2
86435191181. 3

86435191182. 4



Question Number : 79 Question Id : 86435126683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year the Protection of Women from Domestic Violence Act was
enacted?

1. 2002
2. 2004
3. 2006
4. 2009
Options :

86435191183. 1
86435191184. 2
86435191185. 3

86435191186. 4

Question Number : 80 Question Id : 86435126684 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year the Vohra Committee was constituted to study corruption in India?

1. 1993
2. 1994
3. 1995
4. 1996
Options :

86435191187. 1
86435191188. 2
86435191189. 3

86435191190. 4

Question Number : 81 Question Id : 86435126685 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The notion of social evolution was taken from the theories of evolution.
1.  physical

2. chemical

3. biological
4. celestial
Options:

86435191191.1
86435191192. 2
86435191193. 3
86435191194. 4

Question Number : 82 Question Id : 86435126686 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following thinkers analysis in terms of social change, the elements
of technology development (productive forces) and the relations between social
classes has been of prime importance?

% 1.  Karl Marx
2. Herbert Spencer
3. Vilfredo Pareto

4. Emile Durkheim
Options :
86435191195. 1
86435191196. 2
86435191197. 3

86435191198. 4

Question Number : 83 Question Id : 86435126687 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Who coined the term ‘sanskritization’?
1. G. S. Ghurye
2. M. N. Srinivas

3. 5.C.Dube

4. Max Weber
Options :
86435191199. 1
86435191200. 2
86435191201. 3

86435191202. 4

Question Number : 84 Question Id : 86435126688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to M.N. Srinivas, the process of secularization has most influenced
the groups in India.

1. urban and illiterate
2. rural and literate
3. rural and illiterate
4. urban and literate
Options :
86435191203. 1
86435191204. 2

86435191205. 3

86435191206. 4

Question Number : 85 Question Id : 86435126689 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The Factory Act, which raised the minimum age of worker to 14 and made
provision for annual medical exam of the workers between 14 and 18 was passed
in the year

1. 1947
s 2. 1948

3. 1949

4. 1950
Options :

86435191207. 1
86435191208. 2
86435191209. 3

86435191210. 4

Question Number : 86 Question Id : 86435126690 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Janani Suraksha Yojana (JSY) was launched in the year

1. 2005
2. 2007
3. 2009
4. 201
Options :

86435191211. 1
86435191212. 2
86435191213. 3

86435191214. 4

Question Number : 87 Question Id : 86435126691 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 1987 report on development, which is pioneer in defining sustainable
development, is also known as

1.  Brundtland Report
2. Mayo Report
3. Pachauri Report
4.  Warford Report
Options:
86435191215. 1
86435191216. 2

86435191217. 3

86435191218. 4

Question Number : 88 Question Id : 86435126692 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GNP stands for?
1. Gained National Product
2. Given National Product

3. Governed National Product

4. Gross National Product
Options:
86435191219. 1
86435191220. 2
86435191221.3

86435191222. 4

Question Number : 89 Question Id : 86435126693 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Positivism in modern social sciences, emulated the
1.  divine model
2. gravitational model
3. Spencer model

4.  Newtonian model
Options:
86435191223, 1
86435191224. 2
86435191225. 3
86435191226. 4

Question Number : 90 Question Id : 86435126694 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to Auguste Comte, the stage in which the belief that abstract forces
like nature, rather than personalized gods, explain virtually everything, is termed
as

1. theological

2. metaphysical

3. scientific

4. positivistic
Options :
86435191227. 1
86435191228. 2

86435191229. 3
86435191230. 4

Question Number : 91 Question Id : 86435126695 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Emile Durkheim, gave the idea of social facts to differentiate sociology from

1. geology
[s 2. philosophy
3. mechanics

4. Dbiology
Options :
86435191231. 1
86435191232. 2
86435191233.3
86435191234. 4

Question Number : 92 Question Id : 86435126696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to Emile Durkheim, the type of solidarity in a social group where
individuals differ from one another as little as possible, resemble each other
because they feel the same emotions, cherish the same values, and hold the
same things sacred, possess

1. mechanical solidarity
2. organic solidarity
3. plastic solidarity
4. divine solidarity
Options :
86435191235. 1
86435191236. 2

86435191237. 3

86435191238. 4

Question Number : 93 Question Id : 86435126697 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Karl Marx adopted the dialectical mode of logic from
1. Kant

2. Socrates

3. Hegel
4. Plato
Options :

86435191239. 1
86435191240. 2
86435191241. 3

86435191242. 4

Question Number : 94 Question Id : 86435126698 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Conflicts which arise from frustration of specific demands within the relationship
and from estimates of gains of the participants, and which are directed at the
presumed frustrating object, are called as by Lewis Coser.

1.  realistic conflict
2. non-realistic conflict
3. higher order conflict
4.  lower order conflict
Options :
86435191243, 1
86435191244. 2

86435191245. 3

86435191246. 4

Question Number : 95 Question Id : 86435126699 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Max Weber’s thoughts on verstehen were primarily derived from the field of
1. kinetics
2. mechanics
3. physics
4. hermeneutics

Options :

86435191247. 1

86435191248. 2

86435191249. 3

86435191250. 4

Question Number : 96 Question Id : 86435126700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who is the author of the book, Mind, Self and Society?

1.  Max Weber
2. Herbert Blumer
3. George Herbert Mead
4. Charles Horton Cooley
Options :
86435191251. 1
86435191252. 2

86435191253. 3

86435191254. 4

Question Number : 97 Question Id : 86435126701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



It is important to do rural sociology because
1. to reconstruct rural society on a higher basis
2. to understand the economic forces working in the rural society
3. tounderstand the social forces working in the rural society

4.  All of the above
Options :
86435191255. 1
86435191256. 2
86435191257.3

86435191258. 4

Question Number : 98 Question Id : 86435126702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The traditional system in rural India, with occupational obligations, with the
relationship of served and servicing castes is known as

1. class system
2.  industrial system
3. bureaucratic system

4. Jajmani system
Options:
86435191259. 1
86435191260. 2
86435191261. 3

86435191262. 4

Question Number : 99 Question Id : 86435126703 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Under which system, no intermediary proprietors were recognized, and the
actual tillers of the soil were vested with a heritable and transferable right of
property in their lands?

1.  Zamindari system
2. Raiyatwari system
3. Both1and2

4. Kangani system
Options :
86435191263. 1
86435191264. 2
86435191265. 3
86435191266. 4

Question Number : 100 Question Id : 86435126704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

After independence, Planning Commission of India adopted Panchayati Raj
System based on the report of committee.

1. Balwantrai Mehta

2.  Ashok Mehta

3. GVK Rao

4.  S. Mohinder Singh
Options:
86435191267. 1
86435191268. 2

86435191269. 3

86435191270. 4



